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: ber (ar=fas q9E&r) 8 Imaginary Numbers (Feafa W)

All those numbers which can be represented on Cannot be denoted on number line.

ngmlter line a-re call_ed as Real l?umbe-ru T T@T uT =g 981 favar =1 9=ar -;”
(& Tt WA A WE T O WA A e, It

weand et §1) Ex. ./-3,./-5

‘ . =-1) =i, .12 == j* =i 4=
-5 4-3-2-1 0 1 2 3 4 5 w Note: J(-1) i L,i i,i*=1

Ex: 0, 1, -1, 16.83, -22.87, V2, n all are Real Numbers -1- 2

C
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Rational Numbers (uftaa wem)
All those numbers which can be expressed in 5

$ v

Q5 =25
Jor

form, where p & q both are integers & q # 0 are
rational numbers.

S

- " s P 5 - ~ ¥ 4

2 (weit wEAnd =it qmwnfe—m TR, TEl p 3 q
A g & 3T q « 0 ufiog wwnd )

. gr;r?rg, 7,2&0.2aﬂareRationa.lNumben.

COMPLETE |JF:¥¥ s K} COURSE (For all govt. exams )

sy ADITYA RANJAN SIR

lategers (i)

Integers are a collection of all positive & negative
natural numbers & zero.

( Wihfaer "WEmsll & g 3T seuTes dEnedt
I’ VA & WYE W YU wEd £1)
L.0.y = @) seveeee By I W— 8% PO —

“==l0 2
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Irrational Numbers (3mftia wem)

Those numbers which can't be expressed in

form are called as Irrational Numbers.

(& Tt gend = z%mﬁqfwﬁr‘mw.mﬁ'ﬁa
HETd FHEerdt #1)

Ex: }i_ \}E, \5_ & n are called as Irrational Numbers.

-
A=3.190M28..

.- .

1Y vadzong |
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Natural Numbers (Positive Integers)
( uTehfaer d@E&)

Counting Numbers are called as natural
numbers

( i A SEa wrRfaes HET FEert §)

j: 1
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Whole Numbers (Non-Negative Integers)
('{Til]'f Ly ] )

If we add zero (0) to the collection of Natural
Numbers then that collection is called as
Whole Numbers.

(afa zw |yt wigfow TEms’ & oy 9 = Wi @
A 9% WYE WUl WE weEendr §1)
B 001, 2, s

1,2,34,5,_

Prime (F1Ga)
divisible byls iHUL&

2 fadors _
\/Q-si,z

3343

Sy 5

Prime mumbers (s o)

It has only two factor- 1 & itself.
% wad a1 UEES B £ 1 31 =
0O-5ofd% 5 {5_~  Prime number between 1 to 100

50-100% 3 1o 19 100 & = @l 31T |0
0-1007% 5 25 2,3,5,7,11, 13, 17, 19, 23, 29, 31, 37, 41, 43,

47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97

* Exe t 2@ : :
PV 3 QU prinw wo, thm*he&w 60+l

I AMATHS e el =/ ADITYA RANJAN SIR |

( Real numbers )

Natural Numbers 1, 2, 3, 4

Whole numbers 0, 1,2, 3
Irrational

numbers
Integers,-2,-2,-1,0,1,2

Rational Numbers
2 100 -102
9’ 3" 97

TImp Poinks
o4 is niether prime mor Composite.

O Smauut prime no. — 2

O 5"‘““’6" (O'ﬂ)Po.S'il-e no. —> ¢
© GXCEP{

2 an Prime  mumbey @y odd.
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- _Even and smallest prime no/¥H 3T wEd BE

Smallest 3 digit prime number/@a@d Bl 3 37!

M @102 = s TEAw - 101

N}q& * largest 3 digit prime number/Tad TET 3 3Tl &
33__:1_ MU W& — 997

Only pair of consecutive odd prime no/ AN faug
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1. The largest 3-digit prime number is:

3 3Rl W WEH WL AW HWEAT B

NSTABLE 22/11/2023 (Shift- 03)

(b) 991

\gyﬁg'r

(a) 983
(c) 987

T =¥ ADITYA RANJAN SIR |

Note: Each prime number can be written in (6p + 1)
form, But every (6p + 1) form may not be
necessarily prime no.
Wl 39T HEAT & (6p + 1) 9 § forar = " €,
TR &7 (6p 1) BT Tavas B § 319 HE&T @l
B TR #
Ex. 13 >6x 2 + 1 (prime)

25 +6 x4 + 1 (not a prime number)*

(For all govt. exams ) By ADITYA RANJAN SIR |

3. If m is the number of prime numbers between 0 and
50; and n is the number of prime numbers between
50 and 100, then what is (m - n) equal to ?

afz 0 3ft 50 & diw 19T HWENe # WEw m §;
3l 50 3T 100 & e W WEMIT # WS n
€, 1 (m - n) fewE; T 82

NOL]

(d) 7

JCDS 2020 (I)]
(a) 4
c) &

By ADITYA RANJAN SIR |
2. The sum of the smallest three-digit prime

io_]_ number and the largest three-digit prime
+ 994 number is:
1098 wad g2 dF-sEEg W gen o wead ag dF

il =T |wer & 9m T

DP CONSTABLE 03/12/2023 (Shift- 01)
(a) 1104 (b) 1098

(¢ 1100 (d) 1093

ATHSEGL:E (For all govt. exams )
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Between Number of prime no.
4 1-50 15
) 1-100 25
(" 1-200 46
S 1-500 95
L 1-1000 168

By ADITYA RANJAN SIR |

4. How many prime numbers are there between 40
and 50?
40 3fT 50 & d@rer farart sraTg wE &7

SSC GD 10/01/2023 (Shift-01
\t;)

(b) 5
413,43, &q\ﬁ'% '“AQM

d) 2
43,4y

VY8 s Y COURSE (For all govt. exams )




I AMATHS T T e[ =/ ADITYA RANJAN SIR |

. How to check the given number is prime

or not?
To check whether a number is prime number or

< \1 =6
ﬂns @ PBl—sig| @
not, first take the square root of the number.

® @) 16,2,4,8,16
Round of the square root to the immediately 119\1, a4

lower integer. Then check divisibility of number _Qﬂ_‘p _;Q__(i\_'._ 0
by all prime below it. If number is not divisible . | 2 y

by any prime number then number is prime
number.

F1E TEN AU § A T, T T S & fom, waw 131 is Primy
TR e # A e A, A g T o i no.
wu o form & 36 w" "W i faarsmer 5 o 39y
BIET Wl W HEATHT gUT &1 afg famdr o ararw
w1 faurs =8 g 91 3y arara "1Em f)

W6l
8

Q61 g Prime ng.

& 134
s @ {121 =

@ ii—) 2|3f5|7,|{

@ 261
du i) Jese =16

i) 16— 2,3,5,7,i1,13

261 ¥

‘3_‘1»0@1_
3

Q6]

13 1§ Mot py;

131
.__”__)g
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Ex. 137 is prime number or not? u3y ——‘)g)/JHOD e j;/ 5. Consider the following numbers:
137 3rarw Hem & o LB ABD  frfafan wemsit w faem @it
137 =11 => prime number less than or equal
tv ‘ ‘IQ'I-—:"@\J?@"*”E % (1.437) II. 797 |ve- (M. 1073) )0
o1llare 2,3,5, 7 and 11, 137 is not divisible How many of the above numbers are prime?
by any of there. Hence it is prime numbers. ﬁﬁfg,’;{){/y{){ B g * 2 A
& op - IqLad HIEAT3 WW’ 39T E7
11 ¥ BIET 91 STET MW 9 2, 3, 5, 74T 11 %, > R o &
137 374 & fnelt & oft gror fawren = & safem @2 = r\ [CDS 2023 (1))
ST weE t ‘013_3@ 102y 5 39 Only one (b) Only two

/2/,1,{, ,)r()gy( }{ (c) All three (d) None
‘ i3 )|01f3b"

P
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6. Which of the following numbers is NOT a prime
number?
Freafafas & | 0 & den st den =58 87
(b) 1171
(d) 1571

1271

(c) 1471
1251— 1229

© 35~ gar
HBr s
2'3/-9“7'.3|

)y
Dt

————

§)
31
»

Co-prime (HE_FRMwH)

C'x,gj)—? xey doesn't ho
eycep{-i,

(13)v-0@mﬁp

e any oomrnmdochn’

(Q' lS)\/ (15'2\{”0
(LII‘I) e

(HNS)\/
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9. Let a and b be two numbers such that a and

(Q'b_o) (b, b+a) b - a are co-primes and b and b + a are co-primes,
respectively. Which of the followings is true?
8 - . g 2 s s a

(3 8) (14, 14) U wifAw a 3T b A1 wWeAd & HW fE oa o

do b - a HE-319T & 3T b 3T b + a FHEY: WE-3TU™
@ % Froafafea o 9 &0 o1 o= €7
DP CONSTABLE 16/11/2023 (Shift- 03
(Sr”) \;;/bis prlme)O

a and b are co-prime

c) ais prime)o
(/q a and b are not co-prime

B AMATHS e T ime =1 ADITYA RANJAN SIR

7. If (k? + 3) and (k*® + 5) are prime numbers then
what will be the value of k?

afg (k? + 3) 317 (k® + 5) 31999 WEATW & @ k &0

T WA gm?
N (b) 4
€ 7 (d) 3
VUSe option

@ 7,13

I AMATHS ST T Y ' ADITYA RANJAN SIR

8. Three numbers which are co-prime to each
other are such that the product of the first two

is 391 and that of the last two is 943. Find
the middle number.

# wEETd W Us-gE @ @E-avr™ €, uH T
g &1 & OEEA 391 § i sifaw 1 = o
943 ¥\ Ueq WA FA HITAT

BEDP CONSTABLE 16/11/2023 (Shift- 01

OI glc

axb)= 391

®x = quy

b‘)d'l\t'd.( 391 qy N (b) 41
[ qu3
Roy oy €T g%

BY ADITYA RANJAN SIR

MATHS COURSE (For all govt. exams )

Let_ a and b be two numbers such that a and
b - a are co-primes and b and b + a are co-primes,
(.3| 1) respectively. Which of the followings is true?
UM FifAu_a 3T b 91 WA & AW fF a 3w
- b - a -7 ¥ 3iW b 3T b + a FAY: WE-HWTH
dor q-:'g} #1 Prorterfam # & @ w W #2
(3;(0) (a) ,b is prime)0
\% a and b are co-prime
c) ais prime)o
(}1 a and b are not co-prime

9,
(b, b+a)
(10,13)

(a,b-a)



0' 21‘4:"—’;8- -

3+s:-8

eveén
even+ ey even
Q0 +b+c @O
® +b+c=100
b+g= 98
t_b-g=3¢
b= 134~
67

11.

®+®+®

By ADITYA RANJAN SIR

The sum of 3 prime numbers is 100. One
number is greater than another number by 36.
Find the largest number.

fa=l & ararw demslt &1 am 100 §1 AR U
e IO WEn | 36 wfuw ¥ A A waw @t "@emn
ElfeaiE

(a) 61 \(9/67

(c) 59 (d) 71

MATHS COURSE (For all govt. exams ) | By ADITYA RANJAN SIR |

X Yy and _z are_djstinct prime numbers where
@Cz<&Ifx+z+zﬂ,thenwhatisthevalueofz?
x, y aar z fafyre s w7 &, i x <y <z &)
afs x+y +2z="T70%,d z & u w7 &7

NFsC oL MAINS (08,08/2022)
(a) 31 (b) 29
(c) 43 ~dy37

:P_io

c§<3|<3\1
R

08

T AMATHS e T e =/ ADITYA RANJAN SIR |

10. The sum of 3 prime numbers is 100. One
number is greater than another number by 36.
9+ b + _C€ = 100 Find the largest number.

Tl &= arwrm HEmeld o gm 100 %1 afz =

big= a8 e gl wE ¥ 36 aifuw & A A gEd adt qew
+ b—,Z’=36 AT HifATI
Abz 34 (a) 61 (By/67

(c) 59 (d) 71

jr 3' St quu“r '3| gy
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12. x,yand z are prime numbers such that x + y + z = 38,
What is the maximum value of x?

x,y W z 3T AW A TE & f& x+y + z = 38,
Tl x & ATaehdw w9 =4 §7

(a) 19 (b) 23
Jo21 (d) 29
Aty+z=3q
'Xuﬂ t 9-2g

'X+Lj:3(’

S
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13. Four Prime numbers are taken in ascending
order. The product of first three is 385 and of

" o 13. Four Prime numbers are taken in ascending . d last three is 1001. Find the smallest prime no.
C . ! i By AR s . o
AR e ¢ et
w{ 5 357 7 S H i 54 H_ _ ﬁﬂﬁwaaswmﬁmnqmwm
Qxki'= 385 TN WP WEATT agd w9 o o Mg #1 3 | waw axbx¢ = 395 =S5¥XXN & =it & yun sy wew F- W 42
pietd = Joot AT 13T W TIrTE 385 AU ifw i H T 1001 bxcxd = 1004="XI1X13~(a}8 b) 7
S %1 30 | WgW 319TA WE ®E- | g7 T3 (¢ 11 (d) 17
o %) Jsr's b) 7
d\’;?’ (c) 11 (d) 17

COMPLETE [\ l;¥ ¥ 3 &Y COURSE (For all govt. exams ) | 8y ADITYA RANJAN SIR | T R AMATHS L A T e =Y ADITYA RANJAN SIR |
mbers (HE-3T9TH) Twin-prime numbers

If the HCF of two numbers is 1.

’ e N When two consecutive prime numbers are with
afg H)f Tl W WEW. 1% an interval of 2, then they are called twin
Ex. (2,3),(11, 13),(16,9), (25, 19) etc. prime numbers.

T FT TN AT W@ 2 & e & Wi g oA 39
T AT WA FEd B
Ex 2,9,704 19

(T 31w HEAm)

MATHS COURSE (For all govt. exams ) | By ADITYA RANJAN SIR | VY ¥ s N COURSE (For all govt. exams ) BY ADITYA RANJAN SIR |

14. Which of the given pairs form a co-prime 15. Which of the following is a pair of co-primes?
numbers pair? i _ Frefefea & & = |1 gg-arag 9 #7
R g golf ¥ & - O W W g
A 82 (3 (198, 175) T (7, 35)
- o S st 4 (32, 62)
T (24 42] FP(9, 63) 31793

¥D (36, 15) N (11, 21)
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16. Which of the following pairs of numbers are 17. Which type of numbers are NOT co-prime?
relatively prime fo each other? &g uaw =i ‘R@Tq' HE- 31919 @l #
Prorfirfon & 3 womlt wr Wi g O AR
YT AT 7 (2.9) )ﬂ( Any two prime numbers
[DP CONSTABLE 23/11/2023 (Shift- 01) wIE d1 W9 HEEr
\m/uoa, 113) K))(51, 119) N’ Any two consecutive odd numbers

9 7 Iy 8

)‘] Any two consecutive numbers
=g o 2 TEr S
( Any two consecutive even numbers
T’d ot a1 FET wY W
2,

t{) 61 8‘ |0
COMPLETE |\ V:¥ ¥ 3 K COURSE (For all govt. exams ) By ADITYA RANJAN SIR | ETE |y aY ¥ 3 K COURSE (For all govt. exams ) By ADITYA RANJAN SIR |
18. Twin prime,numbers are the prime numbers Q b c 19. Three numbers which are coprime to one
whose difference is always equal to 2. The Q.29 . 34 another are such that the product of the first
number of twin primes between 35 and 100 is: O¥b= 851 = I19X29 two is 551 and that of the last two is 1073. The
WgaT W HEant F W g § e st oXC = 1013 Qax3y sum of the three numbers is?

TUYN 2 & ATET THAT g1 35 3T 100 & #ra qgar d wE @ fR Uw g @ feu g wEAm
AT WEATHT W HEAT E ¥l Ugelt F WEell W TUEEE 551 @9 aifaw 3t

) Q+b+cC el w1 UEEE 1073 &, A A sl @ Adm
(o) 3 by’ 3 1942943y A W

n

) 1 (d) 4
) 85 (a) 75 (b) 81
@,m,s&@iemm 819,83, 89 4 (s} 85 (d) 89
1 1 )
2

: : V¥ ¥ s N COURSE (For all govt. exams ) BY ADITYA RANJAN SIR |
Composite Numbers (HJcd AT 9= TEA) _
= Smallest composite no. (Fa# BIET W=7 &) - 4

It has more than two factors.

¥ A A ifee 1]”@.33}%%' Smallest odd composite no. (F&# BET famm W= Hzm)
Ex. 6,8,9,10,12,14,15 etc. 59
12,4 11236
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y 1 is neither prime nor composite number.

(ii)

1 9 @ 39T 3T 7 & 9w wEm

If a and b are any two odd primes then a? + b?
and a? - b? is composite numbers.

afg a 79T b =91 faan 19T TEAC ¥ A a? + b? 74T a?
- b? Wreg T g

COMPLETE |\ V:¥ ¥ 3 K COURSE (For all govt. exams ) | sy ADITYA RANJAN SIR |

Factor of 28 - 1,2, 4,7, 14,24
1+2+4+7+14=28)

Thus, 28 is a perfect no.

Note: 6 is a smallest perfect no.

(6 T B |Wul wE #)

MATHS COURSE (For all govt. exams ) | By ADITYA RANJAN SIR |

0Odd Numbers ( faum @@ )
Any integer which on division by 2 gives 1 as

the remainder is called as an odd number .
(% T guiies famet 2 @ fawfaa &0 @ ymwa
1 o & 0 faum wEw wwa §1)

Odd no can be expressed as 2n + 1

fawm s @ 2n £ 1 & ®Y H =mam fawar v
T 7

w6 1,2,3%
H— 4,
085 1,2,4%8,
Xq 1,39

10 .L,Q_‘Sl}&

VY8 s Y COURSE (For all govt. exams )

4¥ B
Perfect Numbers (¥wui d@)

If the sum of all the factors of a number (except
that number) is equal to the given number, then
that number is called a perfect number.

afg HE & |l TUrREET 1 AT 3H WS @ BEgEt ),
#t T WEn & =ed w1, 9 39 Wen @ 9wl e
wEd B

Ex. 6,28, 496, 8128 etc.

Even and Odd Numbers
(T vd faun w&m)

Even Numbers (@9 H%A0 )

Any integer which on division by 2 gives zero
(0) as the remainder is called as an even
number.

(w= tar goriess fament 2 |/ fawfam & o7 vowa
YA A §1 38 w0 wed wwd §1)

Even no can be expressed as 2n
AW W@l W 2n ® ®9 W e fawar o @@ £

By ADITYA RANJAN SIR |

Difference between a Rational & an
Irrational Number.

(uftm agn smfag gt ® efav)

The decimal expansion of a Rational number
is either terminating or non-terminating
(repeating) whereas the decimal expansion of
an irrational number is non-terminating non-
repeating.

UF URHT W@ @ Ve WA A A |ia sarEdt
arTadt g




( Rational Number (ufrir ngij] No

Termlnatlng IM onM&iﬂ Ecnl /\Iﬂ'oainofy
2 =0y
5 ]

|Repeating]

3992, Pl lioral
_a_-o.*iS % -0.5 %: 0.3333....= 0.3 R/ %) Tvn
- \ 0
L 1. 0.1666666.... - 0.16 g - > hx *"“‘""m“k/
3 e mmh“} N“‘\""hnimtj ‘uPe
1 1 = "
= =0.2 ~=0.1111111....= 0.1
5 9 """"\1
1_o.a2s 1 . 0.090909.... - 0.09
" T eses = O
ilﬁ =0.1 % = 0.142857142857.... = 0.142857
1 _o.0s
20

By ADITYA RANJAN SIR |

ATHSEGL:E (For all govt. exams )
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Irrational numbers are non terminating & non How to check whether a Rational number is
repeating Terminating or Non-terminating ?

Ex: (z)-3.14159..... ( U ufthm W@ W "id A ST Al B gigr
J2 =1.414..... A W 87)
V3 =1.732..... First check whether the rational number is in

its simplest form or not . If it's not in its simplest
form convert it into its simplest form .

HEE UEe qE Wil Ta 91 W Ui WEE 30 Wied
®q ¥ wuar i, afs 9% weWw ®9 0 W@l ¢ oar

FAT0)

V.Y s Ky COURSE (For all govt. exams ) sy ADITYA RANJAN SIR | 2 X yx2= - 8=-09
Then do the prime factorization of the 4 _1_)):55 -'—l% - sx2 1©
denominator and check denominator is made 2 6%2 - 12 =12
up of which primes £ 14xs :_?g -8S Sx2 o

(o]
THE WG BT W AW MurEE o ¥ fE w R
T araTen dEnadt ¥ = f « 93215 = |igos ¥ U324 _ 86y
Case 1 : If its made by using 2 or 5 only then XS o Sx2
its terminating = ll6p.g

afa @g 2 S9ar 5 WA =W E A 9 i anad )

Case 2 : If any prime is used other than 2 or
5 then its non - terminating .

afg ag 2 A9ar 5 ¥ T8 @91 § A 9 W aEEar
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_ |-66666 - - _ 20. Which of the following numbers are
- terminating decimals?
frafafEa § ¥ *F o 9@ I9WEd & TErE &

’ 3
a 37 = 3
_‘%%xz ® s E\g—;

N 69 _

3)8(‘ 4
32
2}0
.
-t
I AMATHS T T e[ =/ ADITYA RANJAN SIR |
Conversion of Recurring decimal in ¥ 00 =0.2222902 17 a2
P P -
= form. w0 O UF 3MEdl I9TH
o T/ Y Sl*  x:o01
Cagkav Gl
X=0
Ex: X = 0.2353535........... o ;2222 SR
10X = 2.353535........... (1) $=222223. . | w5
100X = 23.53535...........
1000X = 235.3535........... (2)
Subtract (1) from (2)
990X = 233
o 5 8
~ 990

# 0941

So1? 0247 = 241-2 -
Q90
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Now, we discuss the shortcut for this: EX: A _0.123 123-1 122
34, TW WS o widee ==t @ #) ’ 990 990
= 123-12 111
Ex: X= 0,235 B =0.123 = = 900
_235-2 c-0i33. 133
~ 990 999
ass D - 0.47123 - 47123 - 471 46652

- 99000 99000
990

B AMATHS e T MY = ADITYARANJANSIR | T AMATHSE o a T umeT =¥ ADITYA RANJAN SIR |

21. By what smallest natural number X = pP= 0-’]3:'!3-1 =(66 22. If the points P and Q represent real numbers
X: 0-3499994.... :;2::131’;'{;;;;:‘3 multiplied so that it _ i 0.73 and 0.56 on the number line, then what
X=0-3y q" Q= 0.56 - 56-5 is the distance between P and Q ?
PP aF WA BIE WiFiaE wen e X = 0.349999..... 0 9 afs fa P 3t Q e Ymr w arefam wemsi
= =3 gwwmmvﬁwﬁmm » b .
Qoo }ao',so' ar20 (b) 100 ang 66-5) - S, S S S S
X = (c) 300 (d) 900 90 3% =lgLl e g o R i
) p b
3 Q. 3‘;93%3({9 0359 of ¢ ®) o
q:‘*%? oy -q- © e @ 5o
99 s 45 90

B MATHS e Tl =/ ADITYA RANJAN SIR |

23. Which of the following number is a
terminating decimal?

T | ®M | HE, "id 2viHed W §

. . i o
@ %2 Txaxa P 75 " 3xS¥S

5873. XS q 5217 =
128 oixen 9 4 2xaxy




©. Y=0M3 Y= 0281

208 +12)
9%  9qqq

12100

COMPLETE |y ';V ¥ 3 K} COURSE (For all govt. exams ) By ADITYA RANJAN SIR

PXq = even 25. Which one of the following is not correct?
% Frerferfiam & & @i @ W A
[CDS 2019 (II)]
(a) 1 is neither prime nor composite
17 A ar T A & arw
(b) O is neither positive nor negative.
0 7 & g § 3 7 & wmuners
\Wp x q is even, then p and q are always

even

[V
ayi- 8

3¥4y=12

afz p x q @9 i, T p 3T q FHYW WW TN
(d) .2 is an irrational number

J2 UF arafrim wew §

Unit D;g/v_t

T AMATHS e T e =/ ADITYA RANJAN SIR |

7-2 Ue,t) 24. If radius of a sphere is rational, then which of
the following is/are correct?

afy v Ter @ e uftim ), & Foafafoe § 8
FA-W W E ?
TSA= q’_'[’f'z &————— 1. Its surface area is rational.
) O YT ga%e ufthg §

2. Its volume is rational.
9T aAs Uity #)
Select the correct answer using the code given

below:
[CDS 2020 (11)}
(a) 1 Only (b) 2 Only

(c) Both 1 and 2

\[d/)lﬁaither 1 nor 2

NUMBER SYSTEM
Unit Digit

Ppre — 03 »
Mains - 06-07
O unir D Q Shis _
O (Ouw%”’ =ds 8 Tndices
Q %‘V*s.bmﬂ,
emmﬁd[
Q ey "
Ry
Oy
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1. The digit in unit's place of the product
frefafes omws & g 3w Ja =

49237 x 399@<@)x 83 x 9is:
N g (b) 7
(c) 6 (d) 8

:Y Ul s K COURSE (For all govt. exams ) l By ADITYA RANJAN SIR

S g 3. The digit in unit's place of the product
SIX82¥83¥8

81 x 82 x 83 X ..cuvueun x 89 is :
TUHEA 81 x 82 x 83 X ...euee x 89 & T
™ H OIE F

(a0 (b) 2

(c) 6 (d) 8

Sxe\lenzo

J2.u6 'er (a1641 x 2343217

O = Ovc—

2
5)(4\1
\s
8

Y05 Y COURSE (For all govt. exams ) By ADITYA RANJAN SIR

2. The unit digit in 3 x 38 x 537 x 1256 is :
3 x 38 x 537 x 1256 T THE 31F A Hl
(a) 4 (b) 2

(c) 6 48
Q‘}Hx

5. 1

\

8

P‘n‘me.‘— @/3t517f 1% . — —— —

——
p—

even prime —)@ -
Sty *_ —> 2.

1+50-

5‘0-}-0“]‘)__}



Qpeual Pule 0'11)5

Uni+ Digii
5Xeven = O
5x odo = 5

| eY ADITYA RANJAN SIR

COURSE (For all govt. exams )

COMPLETE

5. Find the unit digit of the product of all the

?é@". - — - prime number.
Tt VT HWENS & UHAE H FEE 3h A
EAEL
N (b) 1
() 2 (d) 5
2@ 95= 32
#2°=©@ R=Eh
X 23:® 27 = “2®
* 24z © 2% = 25¢)

sy ADITYA RANJAN SIR

COMPLETE |y F:¥ ¥ 5 &Y COURSE (For all govt. exams )
4. Find the unit digit of the product of all the

3@ - - . _odd prime number.
— avfi fauw v HEmel # OEwE W g
af® FTE wifaw)
(a) O (b) 1

(c) 2 LI

¥ 10 =1=z4®

* P xix1z @

* -|3|3 =

Cyclicity



8,49 COMPLETE | V:¥¥ 5K COURSE (For all govt. exams )
Ori@r%n L‘f__sl él jl =

sy ADITYA RANJAN SIR

6. The digit in unit place of the number
n @ = 2 afromh Ten § THE W W

(0)- o 2 2

Oplicit ” ) il (1570)% + (1571)% + + (1572)* + (1573) is :
) Lo 3 i 3

YO (gt ity o 3 R

S) - g | é qodq: 9

(g)n -

COMPLETE

COMPLETE |y F:¥ ¥ s N COURSE (For all govt. exams ) sy ADITYA RANJAN SIR

7. The units digit of the expression (43)% 8. Find the units digit of 434,
uftomdt wen ¥ g ot 7w = (9% 43 FHT THE 3k AT Hil
2551 + 36° + 73¥is : G
a) 6 (b) 5 (@) 7 ~B) 9
(c) 4 N () O o
Y
P16 43> )_gﬁ(_‘l_
:‘ |l+q
-0

| ev ADITYA RANJAN SIR

COMPLETE | F:¥ ¥ 3 &Y COURSE (For all govt. exams ) sy ADITYA RANJAN SIR
=,
y3™"- 28 9. Find the units digit of 43 — 282, o 10. Let x = (633)2 - (277 (266)*
4 g 3
- 3. g 434 _ 282" ?Fl'sﬂ-ﬂ? 3iF T F=A -« J=446 what is the unit digit of x? :
= 1-6 =4 =~ 13-9 afz x = (633)* - (277)** + (266)* ¥,
= - \ay'1 (b) 2 P 3 x 1 s afm T e
i = ade
3XBXB XY (a) 7 (b) 6
Y4

oY 4 (d) 8
N &
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| ev ADITYA RANJAN SIR

P ¢ 11. If x = (164)'S2 + (333 - (727)%
- 9-9 <D what is the unit digit of x?
. —Hg afa x = (164)'® + (333P°% - (727)* %,

A x T THE 3w P
SSC CGL Tier II, 11 September 2019

(a) 5 (b) 7
(sY'8 @ 9
£y
3
=S
___‘_\

'3

COMPLETE

V:¥ W s NY COURSE (For all govt. exams )

| sv ADITYA RANJAN SIR

13. The digit in the unit's place of
v i .
nw e =9 @ T afw F Fifaw)
[(251)% + (21)® - (106)'® + (705)* - 16* + 259]

is
(a) 1 (b) 4
(€) 5 (d) 6

COMPLETE

ATHSE:E (For all govt. exams )

| sv ADITYA RANJAN SIR

@5) Find the unit digit in the product

W gfromdft @@ o &R ot Fa &
(2464)'7 x (615)*'7 x (131)*! is :
(a) O (b) 2 (c) 3

(d)5

COMPLETE | V:¥¥ 5K COURSE (For all govt. exams ) sy ADITYA RANJAN SIR

5% 1% 6 12. Let x = (433FP- (377/ + (166)%*. What is
_ 1-9+46 the units digit of x?
- @ fF x = (433)* - (377)* + (166)* ¥,
= 7-9) -2 A x T TEE F E FA 7
= s [
EENT (b) 7
(c) 6 (d) 9

COMPLETE |y F:¥ ¥ s N COURSE (For all govt. exams ) sy ADITYA RANJAN SIR

14. The unit digit in the product

. " ufromdt e o g ofd AT i
RS 7Dx 653 x 365 s :
= BUEXS (a) 1 (b)2
a
= 8X3 =

e

COMPLETE | F:¥ ¥ 3 &Y COURSE (For all govt. exams ) sy ADITYA RANJAN SIR

16. The last digit (1001)2°® + 1002 is :
(1001)2°°% + 1002 =T 3ifaw 37w ¥ :

(@@o (3 (c) 4

(d) 6

149



2 2 2 2 R
FHL TR e o sy 0 = M*'—'(Z.a—nﬂl 17. Find the last digit of the expression

- et e @ aifan s F FTEw
:_n_(mgﬂigh £ 2 124224+ 3% + evieennes + 1007,
S T W&o m1 (@3 (@5

sy ADITYA RANJAN SIR

| eY ADITYA RANJAN SIR

-
. 6 18.  Find the last digit of the expression 1@‘;_ L oy Y2 19,  Find the unit digit of /3% 3% FA =
| 2 - 1 - - a8x
:maﬁ'_‘xeﬂ Fafatas =we & ifan 3iw J| Fifau) 3~9‘E\’f§x\4§ 1'+22+ 3% +4* + 55+ 65+ 7" + 8% + 9° +
& 2 PR i + 322+ 332, e 3 10%.
= UXFIEEn (a) 0 (b) 5 ©7 (9O (2) O b)5 (o7 (d)9
R 11492 .23, L4, S 6
_’\_) ~L+?L+?L+L~‘L+§L+?L+j *8%49% o0
® ~_/f®ﬂf7ﬁf56:{sﬁg
Divisibility COMPLETE | F:¥ ¥ 3 &Y COURSE (For all govt. exams ) sy ADITYA RANJAN SIR
R ‘ 20. Find the unit digit of (123456789)123456789,
@ ? %f— (123456789)123456782 /T FeRTS 37k AT il
(a) 2 (b) 6 ()1 (4§
4)2s 4)s
- (ey )g }182 o)

= k‘l)ecf('z.f)_

e ® =0



a3 3
2* (2%)
2 X3
o g2X2x2 - 9 unit>
s 3
42 3232
= qa-’(2>(2)cp_>(2_ 32?2,{32’(‘ — — Rkmy
&), &)
- 92 B 2.X2N%2
— 2© i
= <+
= oU =
G ERG
NG
H
&
5 5 .30'®! 089
92@3 32?’2 162 IS _@
24_ x BT = 24 = 2%

Yl s N COURSE (For all govt. exams )

s #
© 29 ;af@ ::(;oc/

" (]
M ( T
% ®

sy ADITYA RANJAN SIR

21. Find the last digit of 32" .

32%" @1 3ifaw i F witaw)

(a) 2 b4 ()6

2
323

(d) 8
by 32

= 32
2 ’(39.X'32X32_ i "‘x?ﬂ.ﬁm



